IL. Calculate mentally and write the answer.

1. If a brick cost Re 1, then 500 bricks will cost
2. If the cost of a brick is Rs 2, then cost of 1000 bricks is Rs
3. If the cost of 1 brick 1s Rs 5, then cost of 2000 bricks 1s Rs
4. If the cost of I brick is Rs 3, then cost 0f 4000 bricks is Rs
5. If the cost of 1000 bricks i1s Rs 3000 then the cost of 1 brick 1s Rs

6. If the cost of 2000 bricks 1s Rs 8000, then the cost of | brick 1s Rs

7. If the cost of 200 bricks 1s Rs 600, then the cost of 1 brick is Rs

2 COMPIJ,ETE THE TABLE
SL Number of | Cost of Number of Cost of bricks
No bricks | bricks bricks
1 1,000 Rs.6,000 500 Rs.
2 2,000 |[Rs.18,000 1,000 Rs.
3 6,000 |Rs.24.000 3,000 Rs.
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